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[=Eiva K# HC 7 A v 7 ax v b Rl E
RS |58 R 17.6 42 43 85 67.4|SDC(18), BG(85)
EER(Em 5 39.5 53 54 107 67.5|/Np
K] BE 2 26 46 48 94 68|SDC(9)
dlKiE 25 47 47 94 69| /K -
5I/NEF A 23.5 46 48 94 70.5
6|FIH <FE 32.1 54 51 105 72.9|NP(4)
T|%A BE 38.9 54 58 112 73.1
8|=m B 34.4 48 60 108 73.6
&1 H 16.6 45 46 91 74.4
10(E Ak #E— 20.8 49 47 96 75.2
11|ty = 21.6 46 51 97 75.4
1208 @% 26.4 51 51 102 75.6|/KF
13|wm 33.6 57 53 110 76.4
14 EFA 30.5 54 53 107 76.5
15[ AniR 27.2 52 52 104 76.8|NP(11), 7K F-
16| =4t i 13.9 46 45 91 77.1|NP(7)
17|16 IR 21.2 49 50 99 77.8|/ N
18|MiAr KB 28.8 51 56 107 78.2| K (5)
19|RE fEA 25.6 48 56 104 78.4
20( 6 20.2 48 51 99 78.8[SDC(9,18)
21|M s, 19.2 47 51 98 78.8|DC(9,18), NP(7)
22\|luA B 25.1 51 53 104 78.9
23|90 22 51 50 101 79|/1Np
241518 % 30 52 57 109 79| K (5)
25| ] 28.8 52 56 108 79.2|NP(15)
26|k 27 24.4 50 54 104 79.6
27\ KM B— 7.6 46 42 88 80.4|DC(9,18), NP(11)
28|80 # 26.4 53 54 107 80.6
29I B 16.2 50 47 97 80.8
30| AR & 27.6 54 56 110 82.4
31| 1A 15 52 46 98 83| K (6)
32|Mm IF 22.5 52 54 106 83.5
33|km IER 31.2 55 60 115 83.8
34|mfE R 38.8 63 65 128 89.2




